



Ermittle die Zahl, die jede Gleichung korrekt ausgleicht.

Antworten

1) $1 + 25 = \underline{\hspace{2cm}} + 19$

2) $\underline{\hspace{2cm}} + 14 = 4 + 32$

3) $22 + 26 + \underline{\hspace{2cm}} = 13 + 79$

4) $37 - 34 = 40 - \underline{\hspace{2cm}}$

5) $95 - \underline{\hspace{2cm}} = 22 + 27$

6) $\underline{\hspace{2cm}} + 8 + 14 = 23 + 30$

7) $6 + \underline{\hspace{2cm}} = 33 - 21$

8) $55 - 20 = \underline{\hspace{2cm}} - 17$

9) $38 + \underline{\hspace{2cm}} + 13 = 25 + 63$

10) $25 + 6 + 13 = \underline{\hspace{2cm}} - 23$

11) $\underline{\hspace{2cm}} + 9 = 3 + 48$

12) $83 - \underline{\hspace{2cm}} = 46 - 5$

13) $112 - \underline{\hspace{2cm}} = 48 + 49$

14) $168 - 36 = \underline{\hspace{2cm}} + 44 + 44$

1. _____
2. _____
3. _____
4. _____
5. _____
6. _____
7. _____
8. _____
9. _____
10. _____
11. _____
12. _____
13. _____
14. _____



Ermittle die Zahl, die jede Gleichung korrekt ausgleicht.

1) $1 + 25 = \underline{7} + 19$

2) $\underline{22} + 14 = 4 + 32$

3) $22 + 26 + \underline{44} = 13 + 79$

4) $37 - 34 = 40 - \underline{37}$

5) $95 - \underline{46} = 22 + 27$

6) $\underline{31} + 8 + 14 = 23 + 30$

7) $6 + \underline{6} = 33 - 21$

8) $55 - 20 = \underline{52} - 17$

9) $38 + \underline{37} + 13 = 25 + 63$

10) $25 + 6 + 13 = \underline{67} - 23$

11) $\underline{42} + 9 = 3 + 48$

12) $83 - \underline{42} = 46 - 5$

13) $112 - \underline{15} = 48 + 49$

14) $168 - 36 = \underline{44} + 44 + 44$

Antworten1. 72. 223. 444. 375. 466. 317. 68. 529. 3710. 6711. 4212. 4213. 1514. 44



Ermittle die Zahl, die jede Gleichung korrekt ausgleicht.

Antworten

67

44

22

37

46

6

37

52

7

31

1) $1 + 25 = \underline{\hspace{2cm}} + 19$

2) $\underline{\hspace{2cm}} + 14 = 4 + 32$

3) $22 + 26 + \underline{\hspace{2cm}} = 13 + 79$

4) $37 - 34 = 40 - \underline{\hspace{2cm}}$

5) $95 - \underline{\hspace{2cm}} = 22 + 27$

6) $\underline{\hspace{2cm}} + 8 + 14 = 23 + 30$

7) $6 + \underline{\hspace{2cm}} = 33 - 21$

8) $55 - 20 = \underline{\hspace{2cm}} - 17$

9) $38 + \underline{\hspace{2cm}} + 13 = 25 + 63$

10) $25 + 6 + 13 = \underline{\hspace{2cm}} - 23$

1. _____

2. _____

3. _____

4. _____

5. _____

6. _____

7. _____

8. _____

9. _____

10. _____

11. _____

12. _____

13. _____

14. _____